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All answers should be written on the ANSWER SHEET.
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Section A — each question carries 4 marks
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2)

3)

4)

5)

6)

7)

8)

KL FEAAIE -
Find the value of the following expression.
14x37+(312+6—98)
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Bull Team has already won 37 games out of 48 games played. In order to achieve a winning rate of 80%
above this year, in the remaining 34 games, how many games at least must the team win?
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There are 9 different balls in a bag. Find the number of way(s) to pick 5 balls from the bag and arranged
them in a row. (Different orders are considered different ways)

KEUTEAAVE - (WEFZE - sFMERNEEES)

Find the value of the following expression. (Express the answer as recurring decimal if necessary)
0.139+0.58-0.705

KU EAAE -
Find the value of the following expression.
2017* -2016° +2015° —2014% +...+1003* =1002*

Efla-bHflc#HRZERE > WHa+b+c=35 ° KaxbxcHIRAL -

Given that a, b, and c are positive integers and a+b+c =35. Find the largest value of axbxc.

F=ArEZREREL 6 8% 4 > FREL 14 8% 12 - SReZBHVRKE -
When a three-digit number is divided by 6, the remainder is 4. When it is divided by 14, the remainder is
12. Find the largest value of the number.

FEAEAT 2017 {E A - B PAGREEA B/ n ARVAEHZF—K > K n B (E -

Among any 2017 people, it is assured that at least n people have their birthdays on the same day. Find the
largest value of n.

~ HE5E ~
~ End of Section A ~
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All answers should be written on the ANSWER SHEET.
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Section B — each question carries 5 marks

9)

10)

11)

12)

13)

14)

15)

16)
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The length, the width and the height of a cuboid are 209 cm, 133 cm and 247 cm respectively. If the
cuboid is cut into identical cubes, how many cubes at least can be obtained?

IR R IR A HIEE 2 EEE3:10 BACEHRER T 52 KEE whabflEHaEE 2 b2 11 -
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The ratio between the numbers of books a sister and a brother had was 3:10 . The brother bought 52
books, then the ratio between the numbers of books the sister and the brother have becomes 2:11. How
many books does the brother have now?

KELUTRAVE -
Find the value of the following expression.
6> +122 +18% +...+198°

7T EFEEP~Q RS~ T UR VB —HE » WIRZK P A Q ME L5735 - A%/ DIEREY
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Seven letters, P, Q, R, S, T, U and V, are arranged in a row. If it is required that P and Q are to be
separated, how many way(s) of arrangement are there?

C HArfs A HUA1 B 32 - shBAER S o B A 0E] C U2 B42RE - iy C 3thE] B 2 MRS o —i
BREPER RIS N T 27 N B IR N TR S4 A B - TR EF EAE A HE4E C HhF] B i
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Location C is between Location A and Location B, situated at higher level. From A to C is an uphill road,
from C to B a downhill road. An SUV travels 27 kilometres per hour when it goes uphill; 54 kilometres
per hour when it goes downhill. The SUV takes 18 hours to travel from A to B via C; 12 hours to travel
back from B to A via C. What is the distance between A and C in kilometres?

BAESE 10 Bh > %/ 005 - BFEtEL ) $HRFEE —TE — R ELAR L ?
It is now 10 o’clock. How many minutes later will the hours hand and the minutes hand be on a straight
line for the first time?

B~ ZWELE A ~ B pistEIRFAH A - RN T 56 A H » ZHA/NRGT 48 A B o fIEAEEE
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Cars P and Q set off from Locations A and B towards each other. Car P travels at 56 kilometres per hour.
Car Q travels at 48 kilometers per hour. Two cars meet at a place 32 kilometres apart from the mid-point.
What is the distance between Location A and B in kilometres?

s — VUL 8 Ry ABCD » ABCD 3Pl 9 ZA&% | 55— VU181 DCBA > KiE(EUAI & ABCD -
Let a four-digit number be ABCD . When ABCD is multiplied by 9, it becomes another four-digit
number DCBA . Find the four-digit number ABCD .

AR AERE R - Bt EERE D HEERM - WHER /R T EEGT 8 SRt RS RN -
BEEAPRAFTR » MEZIRA AR RSP © BREAEERASN - RRIHE AL - SERAEALR A4S T 8L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

~ LER5E ~
~ End of Section B ~
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Section C — each question carries 7 marks

17)

18)

19)

20)
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8 bags contain 12, 14, 20, 23, 24, 31, 36 and 42 candies respectively. If Mickey takes away several bags
and Kenny also takes away several bags, one bag is left. Given that the number of candies Mickey takes
away is twice of that of Kenny does, how many candies does the remaining bag have?

—IHTR B Z - W= AEIERE 10 R5Epk - RNV TAE2 K > Z8ES 4 K > BB
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A project takes 10 days to be finished by A, B and C together. If C works 2 days fewer, then B needs to
work 4 days more or A and B need to work together for an extra day. How many days does it take to be
finished if it is solely done by A?

B ~ B R = APATIEE I ARG B EEE LR - BLLELME T 4 IR IEERFIE R TS
WL $E 70 0K 5 L Er8EE 64 0K © Bl e N7 4 1 5 A RIS - (& AE N 4
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Ming, Ching and Wing walked from school to a gym to watch a match. Ming and Ching set off from
school at 4 o’clock in the afternoon. Ming and Ching walks 70 and 64 metres per minute respectively.
Wing set off at 4:05. Ming and Wing arrived the gym at 4:40. At what time did Wing chase up Ching?

PrQ RS~ THAEP » He 2 ASKETEER - MRS - 5390 3 ASKEASER - fiufFiH)
HWERRSE - AR R © DR PR -

WF() P TQIREEER ! | WFQ) Q: TRAEAER
WTFG) St TR W@ P TATRRREE |
W) R TTAREAER ! WT6) S TSR |

i 2R H RS =11 ?

Among 5 people, P, Q, R, S and T, 2 people are from Truth Kingdom and they never lie. The other 3
people are from Lie Kingdom. They sometimes lie and sometimes do not. Below is their conversation:
Statement (1) P: “Q comes from Truth Kingdom!” Statement (2) Q: “R comes from Lie Kingdom!”
Statement (3) S: “Statement (2) is wrong!” Statement (4) P: “Statement (3) is right!”
Statement (5) R: “T comes from Lie Kingdom!” Statement (6) S: “Statement (5) is wrong!”

Which 3 people come from Lie Kingdom?

~ BT ~

~ End of Paper ~
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